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PART A: Vocabulary

Directions: Choose the word or the phirase (1), (2), (3), or (4) that best completes cach sentence.
Then mark the answer on your auswer sheet,

1- It had not rained on the prairie for several months. Because of the drought, the climate
had become very ---------- s
1) unsteady 2) rigid 3) intense 4) arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew -------—-- in the front vard.
1) unchecked 2) unjustified 3) complicated 4) scanty

3- Can you please --——-—---—- this last part of the lesson for me; I’m not sure I understood.
1) recapitulate 2) identity 3) postulate 4) recount

4-  Gerry’s dissatisfaction with our work was --—--——--- in his expression, although he never
criticized us dircetly,
1) vulncrable 2) bright 3) implicit 4) humble

5 The world’s coal, oil and gas -----—---- arc finite; onc day they will run out, so think now
about what you can do to consume less,
1) appliances 2) deposils 3) rclics 4) amcnitics

6-  You arc recommended o use mnemonics to help you ----omoo-- important items of
information.
1) cnumcraie 2) cxpose 3) recall 4) withdraw

7-  The lifcspan of a mayfly is ---------- » lasting from a few hours to a couple of days.
1) imprecise 2) ephemeral 3) superlicial 4) swill

8-  His words to the press were deliberately -----------—-; he didn’t deny the reports but
n¢ither did he confirm them,
1) mutual 2) cssential 3) dogmalic 4) cquivocal

%-  Hundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to -———---- the building
immediately.
1) expel 2) cvacuale 3) disperse 4) detach

13- Computers have helped solve some of the mathematical --—-----—- which have puzzled
man for many centuries.
1) conundrums 2) caprices 3) artilacts 4) chronologics
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

By the beginning of the 20th century most of the Earth’s surface had been explored, at
least superlicially, except for the Arclic and Antarctic regions, Today the last of the
unmarked arcas on land maps have been filled in by radar and photographic mapping
(rom aircrall and satellitcs, Onc ol the last arcas to be mapped was the Darién
peninsula between the Panama Canal and Colombia. Heavy clouds, stcady rain, and
dense jungle vegetation made its exploration difficult, but airborne radar was ablc 1o
penetrate the cloud cover to produce reliable, detailed maps of the area. In recent vears
data rcturned by Tarth satellites have led to several nolable discoverics, as, lor
example, drainage patterns in the Sahara. which are relics of a period when this region
was not arid.

Histerically, exploration of the Earth’s interior was confined to the near surface, and
this was largely a matter of following downward those discoveries made at the surface.
Most present-day scientific knowledge of the subject has been obtained through
geophyvsical research conducted since World War 11, and the deep Earth remains a major
trontier in the 21st century.

LExploration ol space and the occan depths has been lacilitated by the placement ol
scnsors and related devices In these regions. Only a very limited portion ol the
subsurface regions of the Farth, however, can be studied in this way, Investigators can
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drill into only the uppermost crust, and the high cost severely limits the number of
holes that can be drilled. The deepest borchole so Tar drilled extends only 1o a depth of
about 10 kilometers. Because direct exploration is so restricted, investigators are
forced to rely extensively on geophysical measurements.

What would be the best title for the passage?

1) Radar Mapping 2) Earth’s Exploration

3) Earth’s Surface 4) Geophysical Research
According to paragraph 1, the Arctic and Antarctic regions ----—------—-- %
1) were the last unmarked spots on maps

2) were discovered by aircratt and satellites

3) had not been explored before the 20th century

4) had been [ound by the beginning ol the 19th century

All of the following made mapping of the Darién peninsula ditficult EXCEPT —-——-——-,
1) high winds 2) dense clouds 3) steady rain 4) thick vegetation

In paragraph 2, “the subject” refers to ——-—-——-———-- ;

1) the decp Farth 2) downward cxploration

3) the Farth’s surlace 4) the Tarth’s interior

According to paragraph 3, direct exploration of the subsurface regions of the Earth is

restricted because of ———ceeee— - 2

1) high costs 2) lack of skilled investigators
3) what happened in World War 11 43 reliability of geophysical measurements
PASSAGE 2:

lleat records were obliterated across Western FEurope vesterday, with Paris reaching an
unlathomable all-time high of ncarly 109 degrees. I's the sccond heal wave in the
region in as many months — and this one has been even more brutal than June’s. As |
wrole carlier this week, rescarch shows that human-caused c¢limate change has
dramatically upped the odds for extreme heat events like this. More broadly, July is on
track to be the warmest month ever directly recorded on Earth, and 2019 1s all but
cerlain Lo be a top Live year.

With all of this in mind, it should probably come as no surprise that a staggering
numbcr of inlense wildlires have been blazing across vast stretches ol Tarth’s northern
latitudes. Over the last six weeks, the Copernicus Atmosphere Monitoring Service has
tracked more than 100 intense and long-lived wildfires in the Arctic. As a release from
CAMS observes, these blazes are pumping an enormous amount of carbon dioxide
into the atmosphere  which, of course. only exacerbates global warming further. In
Jung along, these fires emitted 30 megatons of carbon dioxide into the atmosphere,
which is equivalent to Sweden’s total annual emissions. This is more than what was
released by Arctic fires in the same month between 2010 and 2018 put together.

According to paragraph 1, human-caused climate change -—-—-----—--,
1) is responsible for all intense wildfires on Earth

2) has increasced the likelihood ol new heat records

3) has been especially problematic for people living in London

4y is the second important lactor contributing Lo global warming
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Paragraph 1 suggests that the first heat wave in Western Europe ----—--——--- .

1) occurred in July

2) caused many unprecedented heat records

3) was present there for months

4) was not as intense as the second one

It is mentioned in paragraph 2 that wildfires worsen global warming because they -—----—---,
1) increase the rate ol human caused climaic change

2) raise the average temperature of their regions

3) add a lot of carbon dioxide to the atmosphere

43 burn trees which are agents of cooling down the Earth

The word “which™ in paragraph 2 refers to -~-------—--- %

1) fires 2) atmosphere

3) risk caused by fires 43y 50 megatons of carbon dioxide
It can be concluded from the passage that --——--—---——---- ;

1) Western Europe will be obliterated soon

2) global warming is gelling more and more serious

3) Arctic fires pose the biggest threats to the earth

4) people are trying harder to preserve the Earth nowadays

PASSAGE 3:

Fertilizers partially restore plant nutrients lost by erosion, crop harvesting. and
leaching. Farmers can use either organic fertilizer from plant and animal materials or
comunercial inorganic fertilizer produced from various minerals. Three basic types of
organic fertilizer are animal manure. green manure, and compost. Animal manure
includes the waste matier ol cattle, horses, poultry, and other [arm animals. It
improves soil structure, adds organic nitrogen, and stimulates beneliclal soil bacteria
and [ungi.

Degpite its cffectivencss, the use of animal manure in the Uniled States has
decrcased. There are three rcasons for this: the replacement of most mixed
animal-raising and crop-farming operations with separate operations for growing crops
and raising animals, the high costs of transporting animal manure from feedlots near
urban areas to distant rural crop-growing areas, and the replacement of horses and
other draft amimals that added manure to the soil with tractors and other motorized
farm machinery.

Green manure is fresh or growing green vegetation plowed into the soil to increase
the organic matter and humus (degraded organic matter) available to the next crop.
Compost is a sweet-smelling. dark-brown, humus like material that is rich in organic
matter and soil nutrients. It is produced when microorganisms in soil {mostly fungi and
acrobic bacteria) break down organic matier such as lcaves, [ood wasles, paper, and
wood in the prescnce of oxygen. Compost 1s a rich natural [ertlizer and soil
conditioncr that acrates soil, improves its ability o retain water and nutrients, helps
prevent crosion, and prevents nutrients from being wasted by being dumped in
land(ills. Compost is produced by piling up alternating layers ol nitrogen-rich wastes
(such as grass clippings, weeds, animal manure. and vegetable kitchen scraps).
carbon-rich plant wastes (dead leaves. hay. straw, sawdust), and topsoil. Compost
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provides a home [or microorganisms that help decompose plant and manure layers and
reduces the amount of plant wastes taken 1o landfills and incincrators,

Another form of organic fertilizer is the spores of mushrooms. puffballs. and
truffles. Rapidly growing and spreading mycorrhizae fungi in the spores attach to plant
roots and help them take in moisture and nutrients from the soil. Unlike typical
fertilizers that must be applied every few weeks. one application of mushroom fungi
lasts all vear and costs just pennies per plant. The fungi also produce a bigger root
system, which makes plants more disease resistant.

What does the passage primarily discuss?

1) Organic fertilizers 2) Eftectiveness of fertilizers

3) Usc ol [ertilizers in the ULS. 4) Organic and inorganic lertilizers
Which of the following is NOT mentioned in paragraph 2 as a recason for the deereasce in
the nse of animal manure in the U.S.7

1) The high costs of transportation

2) The introduction of motorized farm machinery

3) The movement of feedlots Lo distant crop-growing arcas

4y The separation of crop-farming and animal-raising operations

According to paragraph 3, how is compost produced?

1) Organic matter in soil is broken down by microorganisms.

2) I'resh or growing green vegetation is buried under soil.

3) Sugar is plowed into the soil in the presence of oxygen.

4) Organic matter is combined with a humus like material.

The word “retain™ in paragraph 3 is closest in meaning to -—-----—--- 5
1) avoid 2) resist 3) preserve 4) heighten
Two advantages of using mushroom spores as fertilizers are -----—---—---,

1) They are organic and nutritious.

2) They are discase resistant and reduce the amount of plant wasie.
3) They are casy Lo apply and can be taken in casily by plants.

4) They are cheap and proteet plants [rom discase.
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